Component Fit fraction (%) Phase (degree)
$(1020), A\ =0  321+£0.5+0.8 0(fixed)
$(1020), [\| =1  34.6+0.5+ 1.3 0(fixed)
f0(980) 120+ 1.813% 294 +8+25

(1370) 1.2+0.3%03 ~814+8+8

(1525), A = 9.94+0.7135 0(fixed)

(1525), |)\| = 51409718 0(fixed)
f2(1640), |A| = 1.5+0.7707 165 + 2713
$(1680), |\| = 1 3.4+0. 3tgg 106 + 141359
f2(1750), A =0 2.6 £0.5758 238 +8+9
f2(1750), [N\ =1  1.8+1.0773 45430718
f2(1950), A =0 0.4+0.2%52 46 4+ 17710
£2(1950), [\ =1 17405773 —53 + 261150
Non-resonant 6.0+1.67%9 —39+6+23
Total 112.3




